TOP 100 QUIZ

1. Fred scored 15 out of 20 in his spelling test. What percentage did he get right?

2. 25% of children said that Maths was their favourite lesson. If there are 32 children in the class, how many preferred Maths?

3. In a class 40% of the children are boys. If there are 12 boys, how many children are in the class?

4. Mr Jenkins saves £256 a month in the bank. How much will he have after six months?

5. A car costs £9956. How much will it cost a company to buy nine cars for its salesmen?

6. An aeroplane flies at a steady speed of 550kph. How far will it travel in 7 hours?

7. John walks at a steady speed of 6 mph. How long will it take him to travel 24miles?

8. How many sides have a pentagon?

9. A history test has 12 questions. Children are allowed 7 minutes to read the test and 4 minutes to answer each question. What is the total time allowed for the test?

10. What are the factors of 81?

11. What is the highest common factor of 24 and 60?

12. Write these numbers in order of size, smallest first:

0.66
0.625
0.088
0.667

13. A floor is tiled with black and white square tiles as shown:

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	

	
	
	
	
	
	


What fraction of the total area is covered with black tiles? Give your answer in its simplest form.

14. Stock cubes 2cm by 2cm are packed into a box 8cm by 10cm by 6cm.

How many stock cubes fit into the box?

Solve the following:

15. 3x – 4 = 11

16. 6x + 7 = 37

17. 10x – 9 = 41

18. 3x + 7 = 9

19. 5x + 8 = 24

20. 7x  = 35

21. 3x + 7 = 25

22. 9x – 8 = 19

23. 3(x + 2) = 24

24. 10 – 5x = -15

25. A car travels at a constant speed of 50 mph. How far will it have travelled in 4 hours?

26. You have a matchbox with 5 buttons in it. 4 are red and 1 is blue. How likely are you to pick out a blue button?

27. You have a pack of cards. How likely is it that you will pick out a red queen?

Write the following fractions in their simplest form:

28. 36

     42

29. 6

60

30. 56
84

31. 120

144

32. 7

28

33. 6

36

34. Bert thinks of a number, doubles it and adds twelve. The answer is 20. What number did Bert think of?

35. At the last census the population of Congleton was 23,964. It is estimated that is has since increased by 5%. What is 5% of 23,964?

36. Work out the present population of Congleton.

37. John has a full time job and lives at home with his parents. He pays them one-fifth of his wages for housekeeping.

How much does he pay his parents if he earns £80 per week?

38. John receives a 7% pay rise. How much will he earn each week?

39. What is the total weekly amount that John will now pay to his parents?

Name the following shapes:

40.




41.



42.




43.



44.





45.



46. – 57.
Work out the following:

2 + 3 =



3 + 5 =

5    5



9    9

3 -  1 =



5 -  2 =

7     7



10  10

1 + 3 =



2 + 4 =

5    5



6     6

3 + 4
=



5 -  2 =

5    6




6     8

2 + 5 =



3 + 6 =

5    9



9    10

4 + 6 =



2 + 3 =

8    12



6    10
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	122
	59
	
	
	
	
	
	
	

	125
	126
	72
	
	
	
	
	
	

	118
	97
	43
	34
	
	
	
	
	

	93
	87
	63
	141
	113
	
	
	
	

	58
	122
	91
	170
	141
	37
	
	
	

	88
	121
	69
	29
	32
	105
	124
	
	

	161
	68
	34
	76
	36
	106
	132
	80
	

	117
	38
	24
	100
	71
	49
	83
	83
	60


58. Tom is driving from Preston to Hull for an interview. Use the mileage chart above to find out how far Tom will travel for the round trip. (There and back)

59.
How far is Manchester from the following places?



Newcastle



Middlesborough

York




Liverpool

Hull

60. Tom takes a business trip. He travels from Preston to Carlisle then on to Sheffield and back to Preston after that. How many miles has Tom travelled?

61. How many miles are the following places apart?

Leeds and York



Manchester and Sheffield

Carlisle and Hull



Middlesborough and Preston

Liverpool and Newcastle

62.
Find the length of the unknown sides:





63.


64.


65. – 75.
Find the answers to the following:

2 x 1 =


6 x 4 =

    
5    3



7    8

7 x 1 = 


5 x 8 =


10  2



9    10


4 x 2 =


7    3


4 ( 1 = 


7  (  1 =


5    3



8      2


7 (  2 =


6 ( 1 =


12   3



9    4


5  (  2 =


8      3


76. Mrs Smith is planning her GCSE Social Studies course. The marks for the course are divided in the ratio 3:2 between coursework and written examination. She has 65 lessons to teach and decides to allocate them in the same ratio as the marks. Find the number of lessons she should devote to coursework and preparing for the written examination.

77. - 85
Expand the following:

(x + 4)(x – 5)

(x – 2)(x –5)

(x + 1)(x + 4)

(x – 3)(x – 7)

(x – 2)(x + 5)

(x – 2)(x – 5)

(x – 3)(x – 6)

(x + 3)(x – 5)

(x + 4)(x – 5)

86. Find the circumference of this circle:

87. Find the area of the circle.

88. Sarah cycles 30km to her grandmother’s house as a steady speed of 10 kph. If she leaves home at 2.00pm what time will she arrive?

89. Show the following percentages as a fraction.

46%

90. 72%

91. 27%

92. 91%

93. A train can take 425 passengers. How many can it take in 4 journeys?

94. 4872 x 12

95. 92047 x 14

96. 24938 divided by 13

97. 1514 x 8

98. 2468 x 10

99. A holiday in Florida costs £876. A holiday in Majorca costs £394. How much more expensive is the Florida holiday>

100. Mr Cohen’s garage is 3.76m long. His car is 4.79m long. By how much is his car too long for his garage?

4cm





3cm





10m





8m





12mm





5mm





5cm
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